'@ Bitspower’

Bitspower Water Block
Designed for MSI Z170A Gaming M9 ACK
Installation Guide

THOR MmiZi70

TMM THERMAL PAD

T
/NN

¢— 0.5MM SPACER
c— M2.5x6MM SCREW

THOR IiZIi70 2dIEl Ol

[l m2.5x10 MM SCREW 2 PCS
J M2.5x6 MM SCREW 2 PCS
© BP-SC-M5IM25L4 2 PCS

@ 0.5MM SPACER 4 PCS
& M2.5x6MM SCREW 4 PCS

NOTE: PLEASE PERFORM 24 HOURS LEAKAGE TEST BEFORE USE.

Before fill in water, please make sure all the component

be installed correctly , avoiding leaking happen and destroy the PC component.



@ Bitspower’

Bitspower Water Block
Designed for MSI Z170A Gaming M9 ACK

Installation Guide

SCM3F
SPRING

Silicone Pad
Bcakplane Paste Pad

M3X32MM SCREW

CPU BLOCK SUMIMIT EF
© SCM3F 4PCS
g8 SPRING 4PCS
©  SCM3F6 4PCS
© 1MM SPACER 4PCS
ﬂ M3x32MM SCREW 4 PCS

Please refer to the illustration lock nut to the position. NOTE: PLEASE PERFORM 24 HOURS LEAKAGE TEST BEFORE USE.



